
CÓDIGO PIEZAS

55202 29 22 6 Caja metálica; 5696 1

JUEGO DE DADOS
Y ACCESORIOS

MÉTRICOS.



Nº CÓDIGO DESCRIPCIÓN

1 5521M Dado 3/4" 12pts 21 mm 

2 5522M Dado 3/4" 12pts 22 mm 

3 5523M Dado 3/4" 12pts 23 mm 

4 5524M Dado 3/4" 12pts 24 mm 

5 5525M Dado 3/4" 12pts 25 mm 

6 5526M Dado 3/4" 12pts 26 mm 

7 5527M Dado 3/4" 12pts 27 mm 

8 5528M Dado 3/4" 12pts 28 mm 

9 5529M Dado 3/4" 12pts 29 mm 

10 5530M Dado 3/4" 12pts 30 mm 

Nº CÓDIGO DESCRIPCIÓN

11

12

5532M Dado 3/4" 12pts 32 mm 

13

5535M Dado 3/4" 12pts 35 mm 

14

5536M Dado 3/4" 12pts 36 mm 

15

5538M Dado 3/4" 12pts 38 mm 

16

5541M Dado 3/4" 12pts 41 mm 

17

5542M Dado 3/4" 12pts 42 mm 

18

5546M Dado 3/4" 12pts 46 mm 

19

5550M Dado 3/4" 12pts 50 mm 

20

5554M Dado 3/4" 12pts 54 mm 

Nº CÓDIGO DESCRIPCIÓN

21

5555M Dado 3/4" 12pts 55 mm 

22

23

24

25

26

27

28

29

5558M Dado 3/4" 12pts 58 mm 

5560M Dado 3/4" 12pts 60 mm 

5649 Matraca 3/4" reversible 

5660 Extensión de 3/4” x 4" 

5661 Extensión de 3/4” x 8" 

5668 Mango articulado 3/4” x 20-3/16” 

5670 Nudo universal 3/4" 

5685

5696 Caja metal 60 x 23.5 x 9 cm 

CONTENIDO


